
Page 1/11

MODEL# 1497Y/1597Y FULL STEP BUNK BED

ASSEMBLY INSTRUCTION

Size of mattress and Foundation

Full size bed is designed to use a mattress (74"-75"long*52 1/2"-53 1/2"wide) for upper Bunk and (75 1/2"-76"long*52 1/2"-53 1/2"wide) for lower Bunk.

Ensure thickness of mattress and foundation combined on upper Bunk does not exceed 10".

The total thickness on Lower Bunk must be between 9 1/4" to 11".

Note:There must be at least 5" from mattress sleeping surface to top edge of guardrail.

Replacement Parts

Replacement parts,including additional guardrails,can be obtained from any of Room To Go Furniture dealers.

Safety Warnings

1.Follow the information on the warnings appearing on the upper bunk end on the carton.Do not remove warning label from bed.

2.Always use recommended size of mattress or mattress support or both to help prevent the likelihood of entrapment or falls.

3.Surface of mattress must be at least 5 inch below the upper edge of guardrails.

4.Do not allow children under 6 years of age to use in the upper bunk.

5.Prohibit more than one person on upper bunk.

6.Periodically check and ensure that the guard rail, ladder and other components are in their proper position, free from damage and that all connectors

    are tight.

7.Do not allow horseplay on or under the bed and prohibit jumping on the bed.

8.Always use the ladder for entering and leaving the upper bunk.

9.Do not use substitute parts.Contact manufacturer or dealer for replacement parts.

10.Use of a night light may provide added safety precaution for a child using the upper bunk.

11.Always use guardrails on both long sides of the upper bunk.

12.The use of water or sleep flotation mattress is prohibited.

13.Keep these instructions for future reference.

14.Strangulation hazard - Never attach or hang items to any part of bunk bed that are not designed for use with the bed; for example ,but not limited to

     hooks, belts and jump ropes.

MADE IN VIETNAM



DO NOT TIGHTEN BOLTS UNTIL COMPLETELY ASSEMBLED.

Page 2/11

Thank you for purchasing this product from us. We want your whole experience to be enjoyable, and that includes unpacking an assembling your item.

For your convenience, we've taken care to make these instructions as easy to follow as possible, however, if due to the technical nature of some items

you're not absolutely sure, please consult a specialist to avoid breakages or incorrect assembly. Follow step by step instructions carefully and you'll be

getting the most from your purchase in no time.

ASSEMBLY INSTRUCTION

 STYLE SKU DESCRIPTION  STYLE SKU

 1497Y 3861497P FULL / FULL BUNK  1597Y 3781498P

 CARTON

 QTY

 1497-46F 36414972 FULL END PANELS  1597-46F 36414984 2

 1497-41 36914972 6 PIECE RAILS  1597-41 36914984 1

 1497-48F 37314971 8 FULL SLATS  1597-48F 37314971 1

 1497-49 36814970 LADDER  1597-49 36814982 1

VENDOR: GLOB

 STYLE SKU DESCRIPTION  STYLE SKU

 1497Y 3881497P FULL / FULL STEP BUNK  1597Y 3801498P

 CARTON

 QTY

 1497-46F 36414972 FULL END PANELS  1597-46F 36414984 1

 1497-41 36914972 6 PIECE RAILS  1597-41 36914984 1

 1497-48F 37314971 8 FULL SLATS  1597-48F 37314971 1

 1497-43F 36614976 FULL STEP END PANELS  1597-43F 36614988 1

 1497-44 36714978 STEPS  1597-44 36714980 1

Full Bed

Full/Full Bunk Bed

Full/Full Step Bunk Bed

1

2

2

1

4

4

3

3

3

3

5

5

6

7

8

9

10

11

2

1

3

3

3

3

4

4

5

5

Please reference Page 5~7 for assembly steps
Please reference Page 8~9 for assembly steps Please reference Page 10~11 for assembly steps

1

2

3

3

4

1

2

3

3

4

FINISH:CHERRY FINISH:GRAY FINISH:CHERRY FINISH:GRAY



Page 3/11

PARTS

NO.

PARTS

DESCRIPTION

PARTS PHOTO

QTY FOR

BUNK BED

QTY FOR

STEP BUNK BED

1 END PANELS(LOWER) 2 1

2
END PANELS(UPPER)

2 1

3 SIDE RAILS 4 4

4 SLATS

2 sets

(8 pcs)

5 GUARD RAILS 2 2

6 LADDER 1 X

PARTS

NO.

PARTS

DESCRIPTION

PARTS PHOTO

QTY FOR

BUNK BED

QTY FOR

STEP BUNK BED

7
STEP-END  END PANEL

X 1

8

9 STEPS

10

STEPS - SIDE FENCE X 1

X 1

X 1STEPS - BACK FENCE

11 X 1STEPS - HAND RAIL PANEL

PART LIST :

ASSEMBLY INSTRUCTION

 STYLE SKU DESCRIPTION  STYLE SKU

 1497Y 3861497P FULL / FULL BUNK  1597Y 3781498P

 CARTON

 QTY

 1497-46F 36414972 FULL END PANELS  1597-46F 36414984 2

 1497-41 36914972 6 PIECE RAILS  1597-41 36914984 1

 1497-48F 37314971 8 FULL SLATS  1597-48F 37314971 1

 1497-49 36814970 LADDER  1597-49 36814982 1

VENDOR: GLOB

 STYLE SKU DESCRIPTION  STYLE SKU

 1497Y 3881497P FULL / FULL STEP BUNK  1597Y 3801498P

 CARTON

 QTY

 1497-46F 36414972 FULL END PANELS  1597-46F 36414984 1

 1497-41 36914972 6 PIECE RAILS  1597-41 36914984 1

 1497-48F 37314971 8 FULL SLATS  1597-48F 37314971 1

 1497-43F 36614976 FULL STEP END PANELS  1597-43F 36614988 1

 1497-44 36714978 STEPS  1597-44 36714980 1

2 sets

(8 pcs)

FINISH:CHERRY FINISH:GRAY FINISH:CHERRY FINISH:GRAY



Page 4/11

STEP

NO.

PART SIZE
QTY

HARDWARE LIST :

PART

NO.

DESCRIPTION

Allen Key
J

M4

1 pc

1 A Bolt 1/4"x18 x 2 3/8"

8 pcs

2 G Screw 5/32"x 1 3/8 "

8 pcs

3A F Bolt 1/4"x18x 2 3/4" x Ø26

2 pcs

3 A Bolt
1/4"x18 x 2 3/8"

8 pcs

4 B

L Metal Panel
7"x7/8"x1"

6 pcs

4 C

4 D

Bolt

1/4"x18 x 9/16"

12 pcs

T Nut
Ø10 x 1/4" x 9/16"

12 pcs

5 C Bolt

1/4"x18 x 9/16"

4 pcs

5 H Screw 5/32"x 5/8 "
12 pcs

HARDWARE PACK LOCATIONS:6 PIECE RAILS

1497/1597-41  SKU:36914972 / 36914984

STEP

NO.

PART SIZE
QTY

PART

NO.

DESCRIPTION

6
G Screw

5/32"x 1 3/8 "

8 pcs

7A E Pin Ø12 x 4 3/8"

2 pcs

Allen Key
J

M4

1 pc

HARDWARE PACK LOCATIONS:FULL END PANEL

1497/1597-46F  SKU:36414972 / 36414984

STEP

NO.

PART SIZE
QTY

PART

NO.

DESCRIPTION

Allen Key
J

M4

1 pc

7 A Bolt 1/4"x18 x 2 3/8"

2 pcs

7 E Pin
Ø12 x 4 3/8"

8 I Bolt
1/4"x18 x 2"

5 pcs

9 L Bolt 1/4"x18 x 1 1/8"

1 pc

10 D

10 L

T Nut
Ø10 x 1/4" x 9/16"

1 pc

Bolt 1/4"x18 x 1 1/8"

8 pcs

11
H Screw 5/32"x 5/8 "

4 pcs

HARDWARE PACK LOCATIONS:FULL STEP END PANELS

1497/1597-43F  SKU:36614976 / 36614988

STEP

NO.

PART SIZE
QTY

PART

NO.

DESCRIPTION

HARDWARE PACK LOCATIONS:LADDER

1497/1597-49  SKU:36814970 / 36814982

8A
H Screw 5/32"x 5/8 "

2 pcs

ASSEMBLY INSTRUCTION

 STYLE SKU DESCRIPTION  STYLE SKU

 1497Y 3861497P FULL / FULL BUNK  1597Y 3781498P

 CARTON

 QTY

 1497-46F 36414972 FULL END PANELS  1597-46F 36414984 2

 1497-41 36914972 6 PIECE RAILS  1597-41 36914984 1

 1497-48F 37314971 8 FULL SLATS  1597-48F 37314971 1

 1497-49 36814970 LADDER  1597-49 36814982 1

VENDOR: GLOB

 STYLE SKU DESCRIPTION  STYLE SKU

 1497Y 3881497P FULL / FULL STEP BUNK  1597Y 3801498P

 CARTON

 QTY

 1497-46F 36414972 FULL END PANELS  1597-46F 36414984 1

 1497-41 36914972 6 PIECE RAILS  1597-41 36914984 1

 1497-48F 37314971 8 FULL SLATS  1597-48F 37314971 1

 1497-43F 36614976 FULL STEP END PANELS  1597-43F 36614988 1

 1497-44 36714978 STEPS  1597-44 36714980 1

1 pcs

11 K 3/4"X5/8"X13/16"

2 pcs

L Metal Panel

FINISH:CHERRY FINISH:GRAY FINISH:CHERRY FINISH:GRAY

4 M  Washer
5/16"x13/32"x3/4"x1/21"

12 pcs



Step 1 Step 2

Step 3 Step 4

A

1

3

3

7

A

J

A

4

7

1

G

3

3

1

3

3

J

A

A

A

E

2

1

7

4

Page 5/11

For Full / Full Step Bunk Bed

2

 STYLE SKU DESCRIPTION  STYLE SKU
 CARTON

ASSEMBLY INSTRUCTION

VENDOR: GLOB

Assemble side rails to lower bed ends & Step-End

end panel.

Place slats on side rail cleats.Use screws

as shown, tighten with screwdriver.

Assemble side rails to upper bed ends & step-end panel.

Use metal pins as shown, set up upper bunk bed to

lower bunk bed.

5

B

C

B

C

C

B

B

J

Assemble metal plates to guard rails. Complete this process for both guard rails.

 1497Y 3881497P FULL / FULL STEP BUNK  1597Y 3801498P

 QTY

 1497-46F 36414972 FULL END PANELS  1597-46F 36414984 1

 1497-41 36914972 6 PIECE RAILS  1597-41 36914984 1

 1497-48F 37314971 8 FULL SLATS  1597-48F 37314971 1

 1497-43F 36614976 FULL STEP END PANELS  1597-43F 36614988 1

 1497-44 36714978 STEPS  1597-44 36714980 1

Hardware "E" from Step 7A

FINISH:CHERRY FINISH:GRAY

D

D

M

M



Place slats on side rail cleats.Use screws

as shown, tighten with screwdriver.

Step 5 Step 6

Step 7 Step 8

2

5

5

1

7

2

5

5

1

7

A

8

E

8

7

2

5

5

1

7

8

9

Page 6/11

For Full / Full Step Bunk Bed

I

ASSEMBLY INSTRUCTION

VENDOR: GLOB

Assemble side fence to Step-End end panel.

Assemble steps to Step-End end panel.

I

9

7

J

J
8

7

A

A

 STYLE SKU DESCRIPTION  STYLE SKU
 CARTON

 1497Y 3881497P FULL / FULL STEP BUNK  1597Y 3801498P

 QTY

 1497-46F 36414972 FULL END PANELS  1597-46F 36414984 1

 1497-41 36914972 6 PIECE RAILS  1597-41 36914984 1

 1497-48F 37314971 8 FULL SLATS  1597-48F 37314971 1

 1497-43F 36614976 FULL STEP END PANELS  1597-43F 36614988 1

 1497-44 36714978 STEPS  1597-44 36714980 1

C

2

5

5

H

1

7

C

J

2

5

H

Assemble guard rails to upper bed ends.

4

G

E

Pin

I

FINISH:CHERRY FINISH:GRAY



Step 9 Step 10

Step 11 Step 12

9

10
L

L

J

D

L

J

11

COMPLETED

Full / Full Step Bunk Bed

11

10

7

7

3

H

Page 7/11

For Full / Full Step Bunk Bed

ASSEMBLY INSTRUCTION

VENDOR: GLOB

Assemble back fence to end panel.

Assemble hand rail panel to

steps & back fence .

Assemble back fence to steps.

7

10

L

J

H

10

11

 STYLE SKU DESCRIPTION  STYLE SKU
 CARTON

 1497Y 3881497P FULL / FULL STEP BUNK  1597Y 3801498P

 QTY

 1497-46F 36414972 FULL END PANELS  1597-46F 36414984 1

 1497-41 36914972 6 PIECE RAILS  1597-41 36914984 1

 1497-48F 37314971 8 FULL SLATS  1597-48F 37314971 1

 1497-43F 36614976 FULL STEP END PANELS  1597-43F 36614988 1

 1497-44 36714978 STEPS  1597-44 36714980 1

FINISH:CHERRY FINISH:GRAY



Step 1 Step 2

Step 3

A

A

A

1

1

3

3

G

4

J

A

A

A

2

2

3

3

J

Step 4

5

B

C

B

C

C

B

B

Page 8/11

For Full / Full Bunk Bed

ASSEMBLY INSTRUCTION

 STYLE SKU DESCRIPTION  STYLE SKU

 1497Y 3861497P FULL / FULL BUNK  1597Y 3781498P

 CARTON

 QTY

 1497-46F 36414972 FULL END PANELS  1597-46F 36414984 2

 1497-41 36914972 6 PIECE RAILS  1597-41 36914984 1

 1497-48F 37314971 8 FULL SLATS  1597-48F 37314971 1

 1497-49 36814970 LADDER  1597-49 36814982 1

VENDOR: GLOB

Assemble side rails to lower bed ends.

Assemble side rails to upper bed ends. Assemble metal plates to guard rails. Complete this process for both guard rails.

Place slats on side rail cleats.Use screws as shown,

tighten with screwdriver.

1

1

FINISH:CHERRY FINISH:GRAY

D

D

M

M



Step 5 Step 6

Step 7A Step 8A

2

2

5

5

H

C

3

4

G

2

2

E

E

E

E

2

2

1

1

3

6

COMPLETED

Full /Full Bunk Bed

Page 9/11

For Full / Full Bunk Bed

ASSEMBLY INSTRUCTION

 STYLE SKU DESCRIPTION  STYLE SKU

 1497Y 3861497P FULL / FULL BUNK  1597Y 3781498P

 CARTON

 QTY

 1497-46F 36414972 FULL END PANELS  1597-46F 36414984 2

 1497-41 36914972 6 PIECE RAILS  1597-41 36914984 1

 1497-48F 37314971 8 FULL SLATS  1597-48F 37314971 1

 1497-49 36814970 LADDER  1597-49 36814982 1

VENDOR: GLOB

C

J

2

5

H

Assemble guard rails to upper bed ends. Assemble slats to side rail cleats for upper bed ends.

Use metal pins as shown, set up upper bunk bed

to lower bunk bed.

Screw ladder to upper side rail to complete assembly.

E

1

H

FINISH:CHERRY FINISH:GRAY



Step 1 Step 2

Step 3A

COMPLETED

A

A

A

1

2

3

3

G

4

F

J

J

Full Bed

Page 10/11

For Full Bed

ASSEMBLY INSTRUCTION

 STYLE SKU DESCRIPTION  STYLE SKU

3861497P FULL / FULL BUNK  1597Y

 CARTON

 QTY

 1497-46F 36414972 FULL END PANELS  1597-46F 36414984 1

 1497-41 36914972 6 PIECE RAILS  1597-41 36914984 1

 1497-48F 37314971 8 FULL SLATS  1597-48F 37314971 1

VENDOR: GLOB

Assemble side rails to lower and upper bed ends.

Place slats on side rail cleats.Use screws as shown,

tighten with screwdriver.

Attach bolts in pre-drilled holes on the top of lower bed end.

 1497Y 3781498P

FINISH:CHERRY FINISH:GRAY



Page 11/11

Cleaning and Care Guide

Wipe up spilled liquids immediately with a soft, slightly damp cloth

in the direction of the wood grain.

For stone surfaces, soak liquids up with a paper towel and wipe

dry to avoid any staining.

Avoid harsh commercial cleaners, glass cleaners and spray

polishes on wood.

Do not expose your furniture to strong of direct sunlight, leave near

heat outlets or air conditioning units, of open windows and dampness.

Excessive exposure to sunlight and heat can cause your furniture's

finish to start fading.

Extreme temperatures and humidity changes can cause wood

 cracking and splitting.

Do not place rubber of plastic materials on the wood finish.

Chemicals within the plastic or rubber may react with the finish if left

in contact for a long period of time. Use a strip of felt or cork.

Never place hot objects on any furniture surface.

Use a hot plate between your furniture and hot objects to protect

the finish.

Frequently dust surfaces with a clean, damp, lint free cloth.

Abrasive build up can cause damage a finish over time.

Small scratches and marks can be touched up or covered with a

mark or scratch remover or a touch up stick. These can be purchased

from any paint or hardware store.

Do not expose your furniture to any liquids.

Your New Furniture

FOLLOWING THESE FEW BASIC STEPS WILL HELP YOU PROTECT

YOUR INVESTMENT FOR YEARS OF ENJOYMENT TO COME.

DO NOT REMOVE THIS LABEL

WARNING:

- Never allow a child under 6 years on upper bunk.

- Only use a mattress that is 200cm long and 120cm wide

  on Twin upper bunk.

- Ensure thickness of mattress does not exceed 18cm and

  mattress is at least 13 cm below upper edge of guardrails.

- Use guard rails on both sides of upper bunk.

- Prohibit horseplay on or underbeds. Prohibit jumping on the bed.

- Prohibit more than one person on upper bunk.

- Use ladder for entering and leaving upper bunk.

- If the bunk bed will be placed next to a wall, the guardrail that runs

  the full length of the bed should be placed against the wall

  to prevent entrapment between the bed and wall.

- The use of water or sleep flotation mattresses is prohibited.

TO HELP PREVENT SERIOUS OR FATAL INJURIES

FROM ENTRAPMENT OR FALLS:

STRANGULATION HAZARD

WARNING:

"High beds and the upper bed of bunk beds are not

suitable for children under six years due to the risk of injury from falls".

WARNING:

 "Bunk beds and high beds can present a serious risk of

injury from strangulation if not used correctly. Never attach or hang

items to any part of the bunk bed that are not designed to be used

with the bed, for example, but not limited to ropes, strings,

cords, hooks, belts and bags".

WARNING:

 “Children can become trapped between the bed and

the wall, a roof pitch, the ceiling, adjoining pieces of furniture

(e.g. cupboards) and the like. To avoid risk of serious injury the

distance between the top safety barrier and the adjoining structure

shall not exceed 75 mm or shall be more than 230 mm”.

WARNING:

 “Do not use the bunk bed/high bed if any structural

part is broken or missing".

All assembly fittings should always be tightened properly

and checked periodically.

Always follow the manufacturer’s instructions.

Ventilation of the room is necessary in order to keep the humidity

low and to prevent mold in and around the bed.

Please refer to the attached assembly instruction for the method

of cleaning and maintenance.

ASSEMBLY INSTRUCTION

 STYLE SKU DESCRIPTION  STYLE SKU

 1497Y 3861497P FULL / FULL BUNK  1597Y 3781498P

 CARTON

 QTY

 1497-46F 36414972 FULL END PANELS  1597-46F 36414984 2

 1497-41 36914972 6 PIECE RAILS  1597-41 36914984 1

 1497-48F 37314971 8 FULL SLATS  1597-48F 37314971 1

 1497-49 36814970 LADDER  1597-49 36814982 1

VENDOR: GLOB

 STYLE SKU DESCRIPTION  STYLE SKU

 1497Y 3881497P FULL / FULL STEP BUNK  1597Y 3801498P

 CARTON

 QTY

 1497-46F 36414972 FULL END PANELS  1597-46F 36414984 1

 1497-41 36914972 6 PIECE RAILS  1597-41 36914984 1

 1497-48F 37314971 8 FULL SLATS  1597-48F 37314971 1

 1497-43F 36614976 FULL STEP END PANELS  1597-43F 36614988 1

 1497-44 36714978 STEPS  1597-44 36714980 1

FINISH:CHERRY FINISH:GRAY FINISH:CHERRY FINISH:GRAY


	1497-1597 Full bunkbed AI-1-11
	图纸和视图
	模型


	1497-1597 Full bunkbed AI-2-11
	图纸和视图
	模型


	1497-1597 Full bunkbed AI-3-11
	图纸和视图
	模型


	1497-1597 Full bunkbed AI-4-11
	图纸和视图
	模型


	1497-1597 Full bunkbed AI-5-11
	图纸和视图
	模型


	1497-1597 Full bunkbed AI-6-11
	图纸和视图
	模型


	1497-1597 Full bunkbed AI-7-11
	图纸和视图
	模型


	1497-1597 Full bunkbed AI-8-11
	图纸和视图
	模型


	1497-1597 Full bunkbed AI-9-11
	图纸和视图
	模型


	1497-1597 Full bunkbed AI-10-11
	图纸和视图
	模型


	1497-1597 Full bunkbed AI-11-11
	图纸和视图
	模型



